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TRIGONOMETRY WORKSHEET 1

Keep two decimal places when it is applicable.

1. Find the sin, cos or tan value of each angle.

a) sin30° = b) cos 45° = C) sin55° = d) tan67° =

2. Find the angle for each sin, cos and tan value.

a) sin6 = 0.219 b) cos 6 = 0.122 C) sin6 = 0.857 d) tan6 = 2.53

3. What is the value of angle B for each triangle

a) b)
75.12° 40.76°
E\ B
B
/B = ¢B =
4. Find the adjacent, opposite and hypotenuse sides.
For angle 2A:
A
Adjacent side: Opposite side:
c b Hypotenuse:
For angle 2B:
C . . .
B [ Adjacent side: Opposite side:
a
Hypotenuse:
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5. Pythagorean Theorem
l.
c? = a’ =
C
a cC = a =
-
b

Il.

11 What is the length of c?

3

C
Il

5

|
What is the length of a?
a
13
V.
What is the length of b?
42
2
v
Page 2 of 4 Trades Learning Aid

This work is licensed under a Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License



http://kpu.ca/learningcentres
http://creativecommons.org/licenses/by-nc-sa/4.0/
http://creativecommons.org/licenses/by-nc-sa/4.0/

! The Learning Centres
KPU Tech

KPU KWANTLEN POLYTECHNIC UNIVERSITY
kpu.ca/trades _tlc

TRIGONOMETRY WORKSHEET 1

6. Find the sin, cos and tan value, then the angles

5.5 A

A =sin"{(——) /B =sin"{(———)

6.4 A = cos™H(———) B = cosT{(——)
8.44 _ _

¢A = tan~H(——) 4B =tan"}{(—)
B = -

7. Find the missing pieces as indicated

R

LB =

o] b =

a=18.25
C =
48.6°
C b A
I a C
B =39.46°

LA =
b a=
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1. | a)=0.5 b) =0.707 c) =0.819 d) =2.356
2. | a) 6=12.65° b) 6=82.99° c) 6=58.98° d) 6=68.43°
3. | a) £B=14.88° b) £B=49.24°
4. | For angle £A For angle £B
Adjacent side: b Adjacent side: b
Opposite side: a Opposite side: a
Hypotenuse: ¢ Hypotenuse: ¢
5 | L. c%=a? + b2 II. c=11.40 [II. a=12 IV.b=35.78
¢ =VaZ ¥ b2
a?=c? — p2
a =+/c%—b?
® | La=sint 6'4)—4931o LB = '-1(5'5)—4067°
=sin g7 ) = =sin™" (g7 ) = 40.
LA (2 ) 49.33° LB -1 ( o4 ) 40.69°
=cos  (—) = = — | = 40.
8.44 €% \8aa
A =tan™! 6'4)—4933° (B=t -1(')—4067°
= tan <) = = tan™" | =) = 40.
7. | L. B =41.4° II. A = 50.54°
b = 16.09 a = 12.52
c = 24.33 b = 10.30
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